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QUESTION 1

An online education website is built based on ECS. SLB and Auto Scaling, which greatly reduces resource cost, OandM
cost and without compromising system stability and user experience. 

Now. the website admin wants to keep the user information (such as source IP, accessed URLs, and duration on each
page) for analysis to support their upcoming campaign events In this case, which of the following statements is NOT
correct? 

A. Let each ECS instance in the scaling group keeps the user access information it processes Thus, the data saved by
these ECS instances can be accessed and analyzed at any time, making the solution not only simple, but also efficient
reliable, and cost-effective. 

B. Save user-related access information to ApsaraDB for RDS in real time or quasi real time, which can then be used for
performing query and analysis. 

C. Synchronize user-Synchronize user-related access information to ApsaraDB for Memcache in real time or quasi real
time. Then, access Memcache using an application or make the data in Memcache persistent based on certain rules
and then can use the persistent data for further analysis. 

D. Synchronize user-related access information to OSS in real time or quasi real time for further use 

Correct Answer: C 

 

QUESTION 2

A new media company uses a mobile app to provide news and information services. They utilize Auto Scaling to
add/reduce ECS instances dynamically to address service traffic spikes. 

Based on the estimation of their service and technical personnel the company thinks they require 10 ECS instances
during idle hours and 10 to 20 ECS instances (dynamically adjusted) during some busy hours, which are normally from
07:30 

to 09:00 and from 18:30 to 20:00 In the scaling group; they set the "Minimum number of instances" to 10 and "Maximum
number of instances" to 20. 

To simplify deployment tasks and save costs, which of the following scaling modes should they choose? 

A. Healthy mode 

B. Scheduled mode 

C. Fixed quantity mode 

D. Event-triggered mode 

Correct Answer: C 

 

QUESTION 3

Alibaba Cloud ECS provides multiple instance types to meet the needs of different business scenarios. A medium-sized
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enterprise user wants to use two ECS instances, one to deploy a single Tomcat service and the other one to deploy
Memcache. Which of the following configurations is most recommended? 

A. Tomcat: 4 cores. 8G, Memcache: 2 cores: 16G 

B. Tomcat: 4 cores 8G. Memcache: 2 cores 8G 

C. Tomcat: 4 cores, 4G, Memcache: 2 cores, 8G 

D. Tomcat: 4 cores: 4G, Memcache: 2 cores: 16G 

Correct Answer: C 

 

QUESTION 4

When using Alibaba Cloud SLB to forward layer 7 (HTTP) service requests. SLB will replace the IP address in the HTTP
header file to forward requests. 

Therefore the source IP address that can be seen on the backend ECS instance is the IP address of SLB instead of the
clients real IP address. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 5

Different Alibaba Cloud VPCs are completely isolated from each other. 

By default, the VPCs cannot communicate with each other over Intranet, but you can establish VPN connections via the
Internet to achieve interconnection between VPCs. 

A. True 

B. False 

Correct Answer: A 

ACP-CLOUD1 PDF Dumps ACP-CLOUD1 VCE Dumps ACP-CLOUD1 Exam
Questions

Powered by TCPDF (www.tcpdf.org)

ACP-CLOUD1 PDF Dumps | ACP-CLOUD1 VCE Dumps | ACP-CLOUD1 Exam Questions                               3 / 3

https://www.leads4pass.com/acp-cloud1.html
https://www.leads4pass.com/acp-cloud1.html
https://www.leads4pass.com/acp-cloud1.html
https://www.leads4pass.com/acp-cloud1.html
http://www.tcpdf.org
https://www.leads4pass.com/acp-cloud1.html
https://www.leads4pass.com/acp-cloud1.html
https://www.leads4pass.com/acp-cloud1.html

